
 

 

juk; 3 fzpjk; 

3.vz;fisf; $l;Ljy; 

nrayl;il 3 

 

gapw;rp 1 

 11 + 27  =  ……  21 + 32  =  ……  37 + 62  =  …… 

 72 +25  =  ……  83 + 13  =  ……  43 + 45 =  …… 

gapw;rp 2 

    53          33       67    73 

+  32    + 34    + 22          + 15  

                   

     

gapw;rp 3 

 cU A,B ,y; ,Ue;J ,yf;fq;fis vLj;Jf; $l;lTk;.   

          A        B     

                  1. $l;Lj;njhif 59Ij; jUk; vz;fs; 
                 vit? 

                 ..............................................  
                     2. $l;Lj;njhif 68Ij; jUk; 
vz;fs;                 vit? 

          ................................................ 

3. $l;Lj;njhif 97Ij; jUk; vz;fs; vit?    ....................................... 

4. $l;Lj;njhif 95Ij; jUk; vz;fs; vit?    ........................................... 

5. $l;Lj;njhif 86Ij; jUk; vz;fs; vit?  .............................. 

6. $l;Lj;njhif 79Ij; jUk; vz;fs; vit?  ........................................... 

25 63 

     52 

43 16 

      34 



 

 

 

gapw;rp 4  

 ntw;wplj; Jf;Fg; nghUj;jkhd vz;fis vOJf. 
 

 

 

 

 

 

 

 

 

       

 

  

gapw;rp 5 
  

 ,yFthd gpurpdq;fisj; jPu;g;Nghk;. 
 
1. xU khyhtplk; 23 khk;goq;fSk; fPjhtplk; 35 khk;goq;fSk;  cs;sd. 

,UtuplKk; cs;s khk;goq;fspd; nkhj;j vz;zpf;if ahJ?  

khyhtplk; cs;s khk;goq;fs;  =    2 3   

fPjhtplk; cs;s khk;goq;fs;   =    3 5  

,UtuplKk; cs;s nkhj;j khk;goq;fs; = 

                     

2. Ngzpnahd;wpy; 42 rptg;G epw khgps;fSk; 37gr;ir epw khgps;fSk; cs;sd. 

Ngzpapy; nkhj;jkhf cs;s khgps;fs; vj;jid? 

 rptg;G epw khgps;fs;  =  ......... 

 gr;ir epw khgps;fs;  =     .......... 

 nkhj;j khgps;fs;  = 

1 

+2 +5 +6 

+3 

+3 +1

55

55

55

55

55 

+5 

+4 

+6 +9 


